



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$(5 + \frac{3}{2})^2 + \frac{2}{5} + \frac{1}{2} - 2^2 =$$

$$((\frac{1}{2})^2 - \frac{1}{2}) \times \frac{1}{2} - (\frac{1}{4} - \frac{2}{3})^2 =$$

$$(\frac{1}{2} - \frac{1}{2})^2 + \frac{1}{2}(\frac{3}{4} + \frac{1}{5}) =$$

$$(\frac{1}{2} + (\frac{2}{5})^2) \times \frac{1}{5} + (\frac{3}{2} + \frac{1}{3})^2 =$$

$$((\frac{1}{2})^2 - \frac{2}{3}) \times \frac{1}{2} + (\frac{1}{3} + \frac{1}{3})^2 =$$

$$(2 - \frac{1}{3})^2 - \frac{3}{5} \times 2^2 + \frac{1}{2} =$$

$$(\frac{2}{5} + (\frac{1}{4})^2) \times \frac{3}{4} - (\frac{2}{5} + \frac{1}{2})^2 =$$

$$(4 + \frac{1}{2})^2 - \frac{1}{2} - 3^2 - \frac{3}{2} =$$

$$((\frac{1}{2})^2 + \frac{1}{4}) \times \frac{1}{2} - (\frac{1}{2} + \frac{1}{3})^2 =$$

$$(\frac{2}{5} + \frac{2}{3})^2 - \frac{3}{4}(\frac{3}{5} + (\frac{1}{2})^2) =$$



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$(5 + \frac{3}{2})^2 + \frac{2}{5} + \frac{1}{2} - 2^2 = \frac{783}{20} = 39\frac{3}{20}$$

$$((\frac{1}{2})^2 - \frac{1}{2}) \times \frac{1}{2} - (\frac{1}{4} - \frac{2}{3})^2 = (-\frac{43}{144})$$

$$(\frac{1}{2} - \frac{1}{2})^2 + \frac{1}{2}(\frac{3}{4} + \frac{1}{5}) = \frac{19}{40}$$

$$(\frac{1}{2} + (\frac{2}{5})^2) \times \frac{1}{5} + (\frac{3}{2} + \frac{1}{3})^2 = \frac{15719}{4500} = 3\frac{2219}{4500}$$

$$((\frac{1}{2})^2 - \frac{2}{3}) \times \frac{1}{2} + (\frac{1}{3} + \frac{1}{3})^2 = \frac{17}{72}$$

$$(2 - \frac{1}{3})^2 - \frac{3}{5} \times 2^2 + \frac{1}{2} = \frac{79}{90}$$

$$(\frac{2}{5} + (\frac{1}{4})^2) \times \frac{3}{4} - (\frac{2}{5} + \frac{1}{2})^2 = (-\frac{741}{1600})$$

$$(4 + \frac{1}{2})^2 - \frac{1}{2} - 3^2 - \frac{3}{2} = \frac{37}{4} = 9\frac{1}{4}$$

$$((\frac{1}{2})^2 + \frac{1}{4}) \times \frac{1}{2} - (\frac{1}{2} + \frac{1}{3})^2 = (-\frac{4}{9})$$

$$(\frac{2}{5} + \frac{2}{3})^2 - \frac{3}{4}(\frac{3}{5} + (\frac{1}{2})^2) = \frac{1801}{3600}$$